SM7%E7 A2 0B8#T

R LBEREHEBE B F
Xm’lk/ﬂuﬂ’\
LHEIEETH BREBEH BREFE (%)

= 8 &t 2 8 & 5 8 =
50,415 | 55,883 | 106,298 | 27,255 | 29,384 | 56,639 | 54.06| 52.58| 53.28
5 5EN

LEBEEH BREEH BREE (%)

L x | &t 5 8 = =2 3 E
50,386 | 55,838 | 106,224 | 27,246 | 29,369 | 56,615.| 54.07| 52.60| 53.30
2 HIES

LEHBEEHR SEEHY BREFE (%)
E2 8 = 5 8 E 5 8 B
29 | 45 74 9 15 24 31.03| 33.33| 3243
EilEh N=T] 2F
2| 54.06% 54.78% 59.27%
Ly 52.58% 53.09% 57.80%
B 53.28% 53.90% 58.51%




3. IxmEMNSEH

4 % & oW OE % R Bt RER
O3S ELsk|EFRE 724 17,094
% |BR o4 |BERLER 2,540 51,179
L |HAK LAL |IERIE 15,367 303,928
L |EE UTOY |HEEF®E 18,863 399,640
% |8k #H— mITREA 1,235 26,947
% |EB OYUh |EFE 524 13,598
% |CLL E=FHK |BEE 9,953 251,370

% | £EE NHK 3% 810 16,164
F|FAES K |[hivbEiEe 4,320 92,896
% |tF¥ = R 291 6,469

. RERY. FOEERRUVEDNBREHRG LIS Eﬁ?‘énﬂ’\
H R RN R EEh LEE
A |BEHOAR 54,627 1,179,285
B |RODEFETIYIETEEH 0 0
C |EMREH (A+B) 54,627 1,179,285
D |ENREH 2,011 42,122
E [#&ZE#% (C+D) 56,638 1,221,407
F o [#FBRY. T 1 34
G |BEHELH (E4+F=H) 56,639 1,221,441
H |&&ZEEH% RERSR) 56,639 1,221,441




